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(ii) What is cultural lag?
qiegis faa=m @1 87 ]
(iii) What is Value ? Ly
T FE?
(iv) Write the meaning of secularism.
gHREr & o7 SaEal :
(v) What is meant by 'Social Change'?
[ aRed & ot FaEdl

(vi) What are the characteristics of modernization?

gt it fadreard o 87

(vii) What sort of education is required to achieved a
high level of social mobility?

TF I= WG AHING TSR 99 ® i B
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(viii) What is social mobility?
IS TS ¥ F7 ST &7

Section-B
(Short Answer Questions)

Note: Answer any 4 questions. Each answer should be given

in 200 words. Each question carries 8 marks.
4x8=32
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Write the role of Education in development of
responsible citizenship.
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What are the causes of inequality of opportunities of
Education? :

i

RIET % TR B STEAEA B F BT R L
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Describe the provision of Human Rights in Indian
Constitution.
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What is vertical and horizontal mobility? Discuss.

ofiaforss g Aferr wfrfiear & 87 fdemn @it
Enemerate the causes of gender disparities.

AR frawanel & e H S Hiedl

What is meant by Gender disparities?

s forwanedt & = oo 87
between 'Material and non-material'

culture.
diferes Td aTiifores Hepia 7 ST ARl
Section-C

(Long Answer Questions)

Note: Answer any two questions. Answer of each question

should be given in 500 words. Each question carries
16 marks. 2x16=32
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